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1. 1856 =1 HIEEE Hiowdl Tl TS FI0AR AT e 7

(1) T Rreon

(2) oI SATTRIER wEt

O RELEERINEIEEIHERICIEl

(4) WdEE FF

What was incorporated in the Act of 1856 ?

(1) Female Education

(2)  Abolition of slave trade

(3) Permission for the widows to remarry

(4)  Abolition of Sati

2. o 2 FaEiE FT e R ?
(a) demeEmE frEi= ohet Jede TEENGT R WEA Frenfya wvamEr yae S,
(b) & e TUTHER TR Sed! o d fafew faen a3 e T
Tt 3 ;
(1) 9% () (2) ¥ (b)
(3) (@A (b) (4) (a) 3 (b) ST
Which one of the following two statements is incorrect ?

(a) In Punjab, the Akali agitation of the Sikhs sought to remove corrupt Mahants from
their Gurudwaras.

(b}  The movement got closely identified with the non - cooperation movement and the
British did not support it.

Answer options :
(1) Only (a) (2) Only (b)
(3) Neither (a) nor (b) {4) Both (a) and (b)
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3.

4 A

W@ Hivid/HI frum / faur genter/ enten 31/ 3 ?

(a) Feom WA 1854 STAwaEav Wies auTdd e eavam A9 sl
(b) 1882 71 ToiarT STRIFIEEE Werew o) 9 Uled! THEE ai=n Wef=Te gy g,

(¢) 1950 yawT=n staradd forsm gervemiged it 2.

(d) 1911 98 NF s T 3 e fades wige.

T I

(1) (®) @ @ () @ (4 HoEE R
Which of the following statements is/are incorrect ?

(a) Implementation of Wood's Despatch of 1854 had failed to extend education to the
lower classes.

(b) Mahatma Phule and Pandita Ramabai were witnesses to the Education Commission
of 1882.

(c) Education till the end of the 19" century, was confined to the middle class.
(d) G.K. Gokhale introduced Higher Education Bill in 1911.

Answer options :
(1) (b) ?) (d) (3) (b) and (d) (4) none of the above

3 hITEEET (@ S fAUmila! Hid g 318 ?
(a) A1 PRI TS URITHERR B, S hde HIg TR S{varE Hig Ity e.

(b) HEEHT MY § IAUAT A &) TR L oEn aifas e wRw e e S|l
AR ek AR,

e I
(1) 59 (a) (2) ¥a3 (b)
(3) T (@) 3T (b (4) = (a) T (b)

Which one of the following two statements about the Salt Law is incorrect ?

{a) According to this law the state had a monopoly, though only in the manufacture
and not in the sale of salt.

(b) Mahatma Gandhi and the others thought that it was sinful to tax salt since it is such
an essential item of our food.

Answer options :
(1} Only (a) (2)  Only (b)
(3} Neither (a) nor (b) (4) Both (a) and (b)

HTHT HIWMIS W / SPACE FOR ROUGH WORK



A 5 HO4

5. fefey 999 FEHUN TS HHERE A YCHG el Agl HHE
(@)  HIARYT g FEislt . 007 STRGCT SOTAHR Sl [ dielal T T,
(b) fafaw arfirerd) Segte famatean fammit gwford s 1 snfor =i @ fa=in sier s
Bl
(¢}  HTHHMIT UGard 3T e s,

T BT

(1) (a), (b) {2y (b {0 3y (a) () 4 (a) (b), (&
The British power did not extead the permanent sctilement to the other regions of India
because :

(a)  Under the perimanent satilement, the colonial state could not claiim any share of the
enhanced income.

(b)  The British officials were influenced by the ideas of David Richardo and wanted his
ideas to be put to practis..

{¢) The permanent settiement systern was besetted with many inadequacies.
Answer options :

(1) (@) {b) 2y (b () {3 (a) (e} (1) (a) (b), (0)

6.  WERASHE! RRT T TR IR BT @
(a) HRH FEETH GO &I,
(by Tfeewrare] waa waer FarE i F.
(c) Ve HATS §HE HEq AN,
(d) TR0 AFES I
giat 39t
(1) () #fu {d) wed 2y (). {b), {c) WA
(3) (b}, (0), (d) "Fi (4) a3 (b) w
Which of the following were the main peosisions of the Lucknow Pact ?
(@) Te ask for the self goveornment for the colony.
(b)  To demand separate «ostititency for the Muslims.
(c)  To bring about reconcibation between the extremists and the moderates.
(d} To start the Swadeshi Movement.
Answer options :
(1) (&) and (d) only (2)  {a), (b), (¢} only
(3) (b)), (&) (d) only (4) ({a) and (b) only
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7. @ foemiv datya ardie sedidl ermd T S0 9 9rg SaEr Ty e

(a) TR HIOF HT (b) A AR
(c) TIUTE! IS (d) TemErsEd sce
=it 3

(1) () (d) (@) (b} (2} (@) (e @) (b) @) () b)) @ @B (@) b

Arrange the following events associated with Lokmanya Tilak, in chronological order
and choose the right option.

(@) Surat Congress Session (b} Lucknow Pact
{c) Ganapati Festival (d)  Shivjayanti Celebrations

Answer options :

(1) () {d), (@), (b) (2 (d) (0 @ (b) () (a) ®b)() () “) (@) (0 (d) (b)

8. WU HIUE! faum G oTRe ?
(a) T IR § fava 4 9 o FTd SR F.
(b) TaFeEEt gasas fode Tasu 50 AT ANET WIia 1.0 TS Jfed $9,
(c) T 3 TS ARfgaarel HIEl Fls 31487 B,
(dy el <urEg wuerETd &I faEmgERr Jaiie a8 qoiedl 14 9 qoiEial 21 3R,
i I ;
(1) (a) =0 (c) (2) (a), (o) 3T () (3) (a) 3 (a) @ @, ®) () (D)
Which of the following statements is/are correct ?

(a) Swami Dayanand was a fervent critic of Christianity and Islam.

(b}  M.G. Ranade edited Marathi translation of nearly 50 lectures which Dayanand
delivered in Bombay.

(c) Lokhitwadi was for sometime president of the Bombay Arya Sama;.

{d) Swami Dayanand advocated that the natural age for marriage was 14 for the girls
and 21 for the boys.

Answer options :

(1) (a) and (c) (2) (@) (p)and () (3) (a)and (d) (4)  (a), (d), (), (d)
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9. WO aH faumitea R AT AR ?

(@)  T1929 9 A=At oot Tiohea YRS HIETIAn 14 FaMen w0 g genit 718 Yar H
FAT YO S HE WA A,

(b) T 1891 UY AW e FHEH aadad 9 yyety faarmg 998 &

i 3
(1) &F@ (a) 977 A1g (2) A% (b) AT B
(3) T (a) I T (b) {4y (a) 7 (b) TrE A

Which one of the following two statements is correct ?

(a) The Sharda Act passed in 1929 did not allow a girl below 14 and a boy below 18 to
get married.

{b)  The Act passed in 1891 allowed inter - caste and inter - communal marriages.
Answer options :
(1)  Only (a) is correct (2)  Only (b) is correct

(3) Neither (a) nor (b} is correct (4) DBoth (a) and (b) are correct

10. ¥R sfea Fudleq WIAWIe hae auifearEt @ Gy TRl ool SO 9 SR TSt
FIET B, e AE qRarE fafa w9 wm g ?

(1) @ dowh () @ frm
(@) @d sfaibm (4) o€ codrd

He was not happy only with the expansion of the East India Company’s rule in [ndia. He
wanted to consolidate the Company’s rule in India. He is known as the Maker of Modern
India. Who was he ?

(1) Lord Wellesley {2} Lord Ripon

(3) Lord Cornwallis (4} Lord Dathousie
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11. Eie 8 faumiieat HIvd /SO G T8/ 374 ?
(a) U IRER F@aRMT FaFET JqdAl @69 Foid T guaEn giEae "Wy 97 o

TS VRTERT T

(b) T oI WETCHT TS TG e AEAH I F HaF=ai1 Feseesl e 1 M=o qeanyqm
RERIP

et 39

(1) el (a) (2) AT (b)

(3} ()= T(b) 4)  (2)3(b) T

Which of the following two statements is/are correct ?

(a) At the end of a powerful movement peasants of Pratapgarh themselves managed to
stop illegal eviction of tenants however the credit was given to Mahatma Gandhi.

(b) At other times, using Gandhiji's name tribals and peasants undertook actions that
did not conform to Gandhian ideals.

Answer options :
(1)  Only (a) (2) Only (b)
(3)  Neither (a) nor (b) (4) Both (a) and (b)

12. GOGis! RV UL TN 9@ae= YRdg TShRTEl 3@l TR Teadl ?
(a) e TRYME ¥ JdFleldla FUH] HIAehR aeid Sel.
(b) B ST S g el HEd A,

(c) OTes Ik o Sienfis fyerone dt e,

(d) =es = - T \ie firse.

Tater I

(1) () &M () (2) (o) P (b) () (d) 4y (b)

Which of the following was not the effect of the movement for national education on

Indian politics ?

(a) It roused national pride and a realization of past achievements.

(b) It helped the vernacular languages to grow.

(c} It gave impetus to scientific and industrial education.

(d) It gave impetus to women'’s education.

Answer options :

(1) (a) and (c) (2)  (c) and (b) (G) (4 4)  (b)

o] SRTHMTS! 91 / SPACE FOR ROUGH WORK
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13.  (A) &0 (B) fasm arge Sau=n 9ra 7919 fael.
(A) Tafevios wRarde Yeamm awEi e Tive 1o T,
(B) UAt® {EHHT @RI IRoen Mgt Siuvam e, @M 3hey Sl WiEw
Wigaw Tafauart Gt e,
(1) (A)TF TR (B) FIH 48 (2)  (A) TR S (B) FHI 38
(3) (A)TF IE (B) TS AH M (4)  (A) O (B) AR I AR
Read the statements (A) and (B) and select the right answer option.

(A) The railways in India, during the British period were not built from the government
funds.

(B) The railways in India were built with the funds raised privately, the English people
thereby got the opportunity to invest their capital in India.

(1) (A)is false (B) is true (2) (A)is true (B) is false
(3) (A) is false (B) is false too (4) Both (A) and (B) are true

14. TS FHAGTT GeHldiS HIvE! T SER T ?

i I
(1) (a) 37 (b) e (2)  (a), (b), (c) FH
3) (), (¢), (d) B @) (c) onfur (d) e

Which statements are true in connection with Lord Cornwallis ?
(a) Cleansing of administration.

(b)  Modernisation of police system.

(c) Established Police Stations at every 20 miles.

(d) Appointed Indians on higher posts.

Answer options :

(1) (@) and (b) only 2) (@), (), (© only
(3) (b (), (&) only () (c) and (d) only
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15.  WEIETRT Al oy apan arens @ T e
(a) M (WA § G AT S HeATe HiEH FHEeT T F AU .
(b) TRS 3 qHGAT 2O 4Rd A 21 E

(c) Tégrem féy 4 qaema € =29 Fre e ame.

o) e i T e

ugiar 39T
(1) (a) A7 (b) (2)  (c) 3 (d)
(3) () AT (4) e =

Which of the following statements are attributed to Sir Sayyed Ahemad Khan ?

{a)  Unless the Muslims accept modern education and the English language, it is difficult
for the Muslirs to make progress.

{b) Hindus and Muslims are the two eyes of the bride - India.

{¢} Hindus and Muslims are the two separate nations in Hindustan.

{d)  Muslims should stay away from the Indian National Congress.

Answer options :

(1) (a) and {b) (2)  (c) and (d)

{3y only to) (4)  All of the above

16. fafewid 4% o qvam oo devid et S faum steT e 2
(a) fegEarTl U UeTIerHt e SR ardl,
(b) U1 ST v WA §faw e fEsr Hal.
(c) T Jey {RIf 77 TR A
(d) Zfiow o 2udie w6 gt o St i,

i 3T
(1) {(a), (), (o) e (2} (b), {0}, (d) P
(3) (a), (b) e (4) (), (d) e

Which of the following statements are true with reference to Western education introduced
by the British ?

(a) It increased the sense of nationalism among the Indians.

(b)  English was accepted as the language of the entire country.

() Tt created an educated middle class.

(d) English language was not accepted by all the educated people in the country.
Answer options :

(1) (), (o), (<) only @) (b, () (d) only

(3) (a), (b) only 4}  {c), {d) only

THeAT WIS AT / SPACE FOR ROUGH WORK
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17. 1907 Wiel Wi greiarsi= 9iued HeH HEm FHHl A HI0MT (Gl & GSH e 7
(1} TR FHD IR
(2) TF 9 FAS ATSA
(3) TR T =k AqoA
(4) =% AGA

Which of the following Tri - colour flags was hoisted by Smt. Madam Kama at the World
Communist Summit in 1907 ?

{1) The one having stars an® & Lotus

(2)  The one having a wheel and a Lotus
(3)  The one having stars and a wheel
(4) The one having a wheei
18. Ti=A1 Ffeard Ufecame WS qrEiora Toviys Qo] faawe gure g
(1) e T (2) foge s foi
(3) g HER (4) FvEAE GO

In the company of
of Gatyashodhak Samaj.

(1) Mahatma Phule (2)  Vitthal Ramji Shinde
(3) Shahu Maharaj (4) Yashwantrao Phule

Bhaurao Patil had come under the influence of the ideology

19. 3T WU JHH 1 THHEA T ¢
(1) W&Fa, e, Wi, show, @i, €9, %9 9 9 e
(2) = fEgzem, swom, Rav=aTel 9 JeSRaqEl, JWE S,
(3) ® e, fESt, Sepa, ufvE 3 ftew g fodh,
(4) = A FEEE T GE hol Th e ol gEL S5hd 7Y,
T F UM =T 1R ?
The pioneer of the reform movements Raja Rammohan Roy :
{1) Knew Sanskrit, Arabic, Persian, English, Greek, Hebrew, French and Latin.
(2) Studied Hinduism, Islam, Christianity and Judaism.
(3)  Wrote in Bengali, Hindi, Sanskrit, Persian and English

(4) Started two newspapers one in Bengali and the other in Sanskrit.

Which one of the above four statements is incorrect ?

AT SHIATATE A1 / SPACE FOR ROUGH WORK

P.T.O.



HO4 17 A

20. WS F6 AR HIvE AT 3013

() efFraTe M TgU Y TRVl FUETAL F MM 5700 2 271 b AN aE TEETEE
B

(b)  HETeH T UH UMY A HeAUad 155w qpnd quee s gid.

i 347 -

(1) &3 0) 2y Faa (I

(3) 3 i) D) (4)  {a) 7T (LY AR

Which of the following two statements are incorrect

(@)  Ambabai who pickcied foreign cloth and liquos <hops in Udupi was actually from
Maharashtra.

(b} Mahatma Gandhi since very beginning wae: voiry souch in favour of women’s
participation m balt Satyagraha.

Answer options @

(1) Onlv 1) (2)  Onlv (I
(3)  Newhei {a) nor ib) (4y  DBotl- oy - 1

21, SIEWT GE SRT Taurdl any g fasel)
(by ©F wi{aden G) B 9.

(¢) e T ity TG v
(d) @ HEEl (vy &l gl

Lo 53 1o L
(@) ) ) (d)
Vo e G )
Yoo o () (G0
yoo(i)y (R i) (i)
(4) i Gvyody ()
Match the following ard select the Conect answer e,

a)  Waorren Hastings (0 dlhiahood S

—

L r2

(
(
(

[1e

by Pord Cormwenlie (1) Puraanend e eaent
(€} themas Moero () ey atve o
(li) Hoel el ne L, oot o

Answer cotionn

(3 ) () ()
1y vy i)
2y i anEy vy gn
Yooy (i) (i
4wy vy o0y
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22, TEIGUE! v Hel HRRIE S Teadl

(1) osq fqor dmwEe (2) Hitey el SaEd

(3) IafwT 7t favd (4) TS TR "ErEr

Which of the following institutions did not work in Maharashtra ?

(1) London Missionary Society (2)  Scottish Missionary Society

(3) American Marathi Mission (4) Portuguese Missionary Society
23. 9 3R 1925 T FTHW Fe AT FId FHifaHR] FEIET Toed ?

(a) HEUER SR q Tla1el Tl

(b) TAyER famfte 5 4vF b

(c) AUEE Ioa W o AN FS

(d) WAt 9 FghvET g9

ety I

(1) @ @®) (2 () FHE @) (HFR (4 ot HpeiE R

Who from amongst the following revolutionaries did not participate in Kakori conspiracy

of 9t August 1925 ?

(a) Chandrashekhar Azad and Rajendranath Lahiri

(p) Ramprasad Bismilla and Roshan Singh

(c) Ashkfak Ulla Khan and Yogesh Chatarji

(d) Bhagat Singh and Batukeshwar Datta

Answer options :

(1) (a)and (b) (2)  (c) only (3) (dyonly (4} None of the above
24. TEI® T FuHident FIUd RIS I8 7

(a) AR SvE 97T THE & 1920 =0 S FERa g
(b) 1930 =N <YHIS SR TEET=IT S B TR Waaas O 7 g2 T o sfea

= Tl
qqidr I
(1) % (a) (2) %S (b)
(3) T (a)3A(b) (4) (a)d (b) A=

Which one of the following two statements is incorrect ?

(@) The revolutionary nationalist Bhagat Singh was active during 1920s.

(b) Two important developments of the 1930s were the formation of the Rashtriya
Swayamsevak Sangh and the Communist Party of India.

Answer options :

(1) Only (a) (2) Only (b)

{3) Neither (a) nor (b) (4) Both (a) and (b)
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25. A HOM (& AT Haiy _ g,
(1) Wi faemomen (2) Tt foeomen
(3) == foreyomei (4) geRTeomit
The Raleigh Commission of Lord Curzon's tenure was associated with
(1) Primary Education (2) Secondary Education
(3) Higher Education (4) Famine
26. o YT W e dereRel wee .
(1) B FIEYE 5o 1882

)
(2) dgd =1 WAl 1854
(3) 1904 =1 faurdts HrrET
(4) S Hmiown TE 1835

_is known as the ‘Magna Carta” of Modern Indian Education.

{1} Report of Hunter Commission 1882
(2)  Wood’s despatch 1854

(3)  University Act 1904

(4) Lord Macaulay’s proposal 1835

27. HiFHUNE A T S0 YRR WIS el Wl

(a) TN IA (b) s G

(c) U T (d) e ™

gt I

(1) (a) #0T (b) ok (2) () 37 (c) T
(3)  (c) e (4)  (d) ™+

Which dance form is performed in Konkan during the Shimga festival ?
(a) Gaja Nritya (b) Kath Khel

(c) Tarpi Nritya (d) Nakta Nach

Answer options :

(1) - (a) and {b) only (2} (a) and (cj only
(3) (c)only 4) () only

FHecAT HIHGE! 9 / SPACE FOR ROUGH WORK
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28. THES GSIEE AR RV g9 HILHR §ie

() A o (by = 3fem
(c) BiSH (d) WA
PRIpics
(1) (a) 31 (b) T () (a), (b) (c) P
(3)  (2) 2O (d) HoF @ (), (o), (d) B
Which news papers propagated the Homerule movement ?
(a) Common Will (b) New India
(c}) Harijan {d) Swarajya
Answer options :
(1) (a) and (b) only {2) (a). (b), (c) only
(3) (a) and (d) only (4)  (b), (), (d) only
29, 'Si-Y¥T ol @ gWen EEaie s i 9T e,
(1) drrER {9 (2) dfea wEE
(3) wEHEE @) T S
raised her voice against male - female discrimination in her book “Stri - Purush
Tulana’.
(1) Tarabai Shinde (2) Pandita Ramabai
(3) Rukhmabai (4) Anandibai Joshi

30. SIS 1 STUGH U ST SR F0F HERISTd SMfieh Uegeara Ir Jiovi HERIsTaie
Wt faards Hir?
(1) SIS T (2) foropamett dfea
(3) THFW favamy (4) WS HEeH

Who from amongst the following is known as a “harbinger of the age of capitalism’ and as
a founder of economic nationalism in Maharashtra ?

(1} Balshastri Jambhekar (2) Vishnushastri Pandit
(3) Ramkrishna Vishwanath {4) Bhao Mahajan
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31.

16 A

TR e A EIeae! RVl Tt | 3 oo | ik fofeear s ~amrear) e w2

(a) YRS HS (b) HYEE Y
() WeIHTHE TTHL (d) TeTawE SEa@H
T 9T

(1) (@) = (c) (2)  (b) 30T (d) (3)  (c) *AT (b) (4) () = (a)
Who from amongst the following leaders of the Non - Brahmin Movement were sentenced
by the court for writing the book ‘Deshache Dushman’ ?

(a) Bhaskarrao Jadhav (b} Keshavrao Jedhe

(¢) Prabhodhankar Thakre (d} Dinkarrao Jawalkar

Answer options :

(1) (a) and () (2) (b) and (d) (3) () and (b) (4)  (d) and (a)
32, 1975 <A1 i SAONETON=A] Hield qGIedah! HIvd d YT 3 Bd ?

(1) 3reie A, IS A (2) TSI S¥0TE, WS FA(TSH

(3) <EUrEt, F.37 HOHHE! (4) RIS <ETE, TS STE

- Who from amongst the following leaders went underground during the internal emergency

of 1975 ?

(1) Ashok Mehata, Raj Narayan (2)  Nanaji Deshmukh, George Fernandis

(3) Chandrashekhar, K.R. Malkani (4) Morarji Desai, Nanaji Deshmukh
33. =AY GICIARHG Gl ST o4l Sl hig] Hewd] 91 S0 e,

T Hevid HI YRS TH S,

" g Y HEEeQE HGl. Rl SRt WS Yad WS REEEE! dae ot
TR Uee €M 3T &1 7 STH=! 79, 5 37H=! T 7 319w ged %R F 00 7 3l 12
EATS & T |

(1) 3. e (2) A

3) TS, WiEF (4) Tage s forg

After a long debate certain privileges were granted to the members of the lowest castes.

In this respect who had then said,

“We were suppressed for thousands of years. You engaged us in your service to serve
your own ends and suppressed us to such an extent that neither our minds nor our bodies
and nor even our hearts work nor are we able to march forward”.

(1) B.R. Ambedkar (2) MK Gandhi

(3) HJ]. Khandekar (4) Vitthal Ramji Shinde
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34. fafew 9 ‘Trame SRR 3.8, 1774 WIS 919 ST e Ted wR
(a) YA HEH JOTET A9 HOAE F.
(b) SwHaTaTAT SflE GEwier @ ST .
(c) HITF Ao AUFR TRy T
(d) FIH=N FAERER § TARRHRET FHY I g,
T TARRA SET 99id sHoet 9! e foddt et sieaL
(1) (2) ¥ () (2)  (b) 3o (d) (3) (c) v (b) @) (d) 3 ()
British Company passed ‘Regulating act’ in 1774, it's main reasons were :
(@) To strengthen company administration in India.
(b}  To check economical prosperity of the employees.
(c) To increase the authority of the board of directors.
(d) To control the transactions and administration of the company.

Which one of the foliowing options is correct ?
(1) (a) and (c) (2) (b} and (d) (3) (g and (b) 4) (d)and (a)

35, TEIGUa! HIVKT Tie AR dSEThTe Heftd A 2
1) A Y4eE faamdier™ $o1% e
(2) A ek ST YT 0.
(@) I A, TS YW S G6e B A im0,
(4) IO TEHE L
Which one of the following things is not associated with Justice Chandavarkar ?
{1) He was the Vice - Chancellor of the University of Bombay.

(2) He modernized the Prarthana Samaj.

(3) The leadership of the National Social Conference passed on to him after the death of
Justice M.GG. Ranade. :

(4) None of the above

36. 1908 WA TIoahivT 6 i WHH FHrarETE! el A JSEvET T,
(1) T 3TN SO T WHeA FS,
(2) 0 9 AST @ TITA & FIL.
(3) o B g fafrTssTe Fi g6t Ko,
(4) @O, TR 9 TR AR FewhR T Srfwae gdien fom,

Tilak was sentenced with six years rigorous imprisonment in 1908 for

(1}  Defending the killing of the English couple.

{2) Starting the newspapers - Kesri and Maratha

(3) Supporting Lala Lajpat Rai and Bipinchandra Pal

(4) Supporting the programme of Swaraj, Swadeshi and boycott of foreign goods.
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37. @ - feoe € 9 ardifed OF #9, F A a0 e faerdte = e a0 89, 9
e o R UTE fage Bk, o U e 3EgerE 2. @ S0 d Siean ?

(1) =g o™ AR (2) TR IEHT @H
(3) e TR 3T (4) Sl TR AEHg

He started Al - Hilal, a weekly in Urdu, he had his education from Al - Azar University of
Cairo, he was a scholar of Arabic and Persian, he was also a President of the Congress.
Who was he ?

(1)  Abdu! Kalam Azad (2) Sir Syed Ahmad Khan
(3) Maulana Mohammad Ali (4) Dr. Nazir Ahmad
38, UF SRV, HIRNd 9ool@ Mae & &4 AR A s afee d qUETAT ShIET
YA TeRge 9e W,
(1) I ESEHU (2) SERRE T
(3) fage Tl fidw (4) @S Wl
It was in the Scottish Mission’s High School in Poona met Sadashiv Ballal
Govande, a Brahmin, who remained his close friend throughout his life.
(1) Bhimrao Ambedkar (2} Jotirao Phule
(3)  Vitthal Ramji Shinde (4) Lahuj Salve

39. ‘Ogiee W@ 9@ o1 faurER @i f[9va Jeear @i qd 3 YRaE 9l g adEl o
TATE GO Ul Ao TRause S SN 9 9, d i ?
(1) fago qust fig (2) Ao g
(3) T O TR (4) I &l I

He did not believe in the principle of ‘Go back to Vedas’. According to him the Aryans
were foreigners to India. Yet he agreed to give protection to Dayananda Saraswati’s
procession in Poona. Who was he ?

(1)  Vitthal Ramyji Shinde (2) Jyotiba Phule
{3) Gopal Ganesh Agarkar {4) Gopal Hari Deshmukh
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Y qs HIeaT= 6 AETd Tl goed et fe. 30 SHard 1948 o el mefi sem
YW ey AT MAfFEA] F SR T TEAT WA fig- g vererH e Tguar
SATTETSN TEHd Tegdl. 1 HeATHT v TS JHIY TEUTch-

ST STRATATS YeRTY] WIS e A TeH AR T

(1) dfed TaET® AgE (2) o SR ereeaR

(3) HRER FeeuvE T (4) WM ITFH TERR @H

Less than six months after independence the nation was in deep mourning. On 30 January
1948 Mahatma Gandhi was assassinated by a fanatic, Nathuram Godse, because he

disagreed with Gandhiji's conviction that Hindus and Muslims should live together in
harmony. Who then said on that evening ?

“The light has gone out of our lives and there is darkness every where”.
(1) Pandit Jawaharlal Nehru (2) Dr. BR. Ambedkar
(3) Sardar Vallabhbhai Patel (4) Khan Abdul Gaffar Khan

41.

1EI® < fauitest o aveT 3R ?

YRA “ea] AR 1947 AY T Aol deal =] ¥4 Aigt gehe al.

(a) ISR WSS YA e 80 T SaIHAr (e o e | s,

(b) TEHL WIS HHe A IRANIS a3 I69; I 50 Tgedl G&dd, St HgRrsi a Tarers
ATHIEATETS! Bl - T IRAT fGSR 2o T T,

i S

(1) 9@ f[QuM (a) 93 7=

(2) ae faym (b) 77 2R

(3) A Ta4rt (a) AT 7 (b)

(@) <= faum (a) F (b) AT

Which one of the following two statements is correct ?

When India became independent in August 1947 it faced a series of great challenges :

(a) As a result of partition 8 million refugees had come into the country from Pakistan
who had to be found homes and jobs.

{b}  Then there was the problem of the princely states almost 50 of them each ruled by a
Maharaja or a nawab, each of whom had to be persuaded to join the new nation.

Answer options :

(1) Only statement (a) is correct

{2}  Only statement (b) is correct

(3)  Neither statement (a) nor (b) is correct
{4) Both the statements are correct
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42, HUE Jete HIOHSE 999 ¢
(a) YOYH TEhiaEddT HecdrEl 3UE WS el el
(b) R SE LR FUA I T e AR,

e 3 faurite SR s o ?
(1) F9% () () F93 (b)
3 TE@E) @ TEE@I®)

The Karachi session of the congress :

{a) Passed an important resolution on Fundamental Rights.
(b) Favoured nationalisation of certain industries.

Which one of the above two statements is incorrect ?

(1) Only () (2) Only (b)

(3)  Neither (a} nor (b} (4) Both (a) and (b)

43. 'Iad! o) Hee foe T THmHE SR TR ... SevEeTE Sufavardr TR ant qer foudt
A 9 A BV TAUE 39 25 haEr 1919 Usit WS TR Hivier wefad
(1) SR & (2) W YEE
(3) feremamsm @) T FEHE
“The growing generation will not be satisfied with petitions etc. .... Satyagraha is the only

way, it seems to me, to stop terrorism”. To whom did Gandhiji write this in his letter
dated 25™ February 1919 ?

(1) Jawaharlal Nehru (2) Motilal Nehru
(3) Dinshaw Wacha {4) Swami Shraddhanand

44, TG THEE YRV SRR Fedad e feasif wuia wom o (g ?
(1) WRA Sieh fohmmer 3 1?2
(2) < et o oga W R
(3) g fewet
(4) TSIE! FIvEE A
Which article did Lokmanya Tilak write in Kesri after the Montegue Chelmsford Reforms
were declared ?
(1) Sarkarche Doke Thikanavar Aahe ka ?
{2) Janab Delhi to bahut door hai !
(3) Chalo Delhi
(4) None of the above
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I T O gfee areasl sty 9el Fi-t TR gus geiotel wivkt i gt ?
(a) VAT GURUT SSqd ST,

(by TS W= fomg &Y.

(c) <emen @ faaad <.

(d) YRR SFrE fawH H.

it 39

1) @aFME @ GEmd @ @Fe) @ ([ @)
Which of the following objectives were set for the National Congress by Womesh Chandra
Banerjee, the First President of the Indian National Congress ?

(a) To introduce reforms in India.

(b) To develop the feeling of nationalism.

(¢} To free the country.

(d) To develop unity among the Indians.
Answer options :

(1) (@) and () (2)  (b)and (d) (3) () and (b) (4) (d)and (a)

46.

STHEHN F55des WHI HaedHal Hid SF 9P fauwe e

(a) TS TSI FeSUUTRE T2, Tl TSR] 3701 TSFETHIS SEATOR € 318 oo 8 1
HiE FagE " s 9 fadivesn A 560 Jeama.

(b) 1T R Ht 3R, T, Hiftols Yt d fagevrs ves T & e fragui=n fadum Sy

(c) SAETA1922 =1 91 Aefies Tild, 0 QN 37eaerog |l.aTR, 9 alemhs 2, Fragumian
TS 3T AT ST

alla @ Y&t v faum aOat SR ?
uaidt 39
1) () (2) (b) 3) (9 (4) g Tl

After the withdrawal of the Non - cooperation movement, the congress was divided into

two groups.

(@) One group led by Vallabhbhai Patel, C. Rajagopalachari and Rajendra Prasad wanted
that the congress should take part in the elections and wreck the working of
legislatures from within.

(b)  The group led by C.R. Das, Motilal Nehru and Vithalbhai Patel was against contesting
elections.

{(c) In 1922 the Congress session held at Patna and presided over by C.R. Das rejected
the proposal for entering the legislatures.

Which one of the above three statements is correct ?

Answer options :

1) (a) 2 0 3 (© (4) None
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22 A

T 9 HEAEET 18 T 1823 B UH fa=d! o1 forfew udtieswhe yafaen g@L @ arsfier
AT Siehi=A] ol (GIGTRT FI0 Taesan Sedl g ?

(1) T AR U9 9 Y IHRS
(2) ST THHEA WG 9 Tyeeg (T
(3) T IHARA T4 F TelRd Tieg T9E
(4) T TR U9 9 facem dfew

On June 18, 1823, a petition, requesting to put an end to the practice of Sati was sent to
the British Parliament. Who from amongst the following had signed it on behalf of the
Indian people ?

(1) Raja Rammohan Roy and Jagannath Shankar Shet

(2) Raja Rammohan Roy and Ishwarchandra Vidyasagar
(3) Raja Rammohan Roy and Mahadeo Govind Ranade

(

4) Raja Rammohan Roy and William Bentinck

48.

URd Toa3 FeAa Ti3g] HRE= SYRUTET § Hiam 9Xon= aiueh|el s @8 &g o
TS, ARTeHT e fyrear TRy SF Fi= Ja 71 S0 @i SAfE WX HITaR aiaard g9 g ?

(a) &

(b) wrafi faromar

(c) affed Hqed T

Tl I ;

1) (a) (2) (b} 3) (¢ (4) oo TwE A

After independence we laid more stress on development of heavy industries and on building
large dams. Mahatma Gandhi’s follower Mira Ben however thought we should instead
have had emphasis on :

(a) Agriculture
(b) Primary education
(¢) Maintaining natures balance

Answer options :

(1) (a) (2) (b 3 (0 {4) None of the above
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49. TS 6 gyroid A9 7S A T FIAE IR, @ L S 419 o) g, WY A AT
PO e 304 B U e TEtd aid. Hi0 A= T SHIERMIS [Ioah! HIvel gaias
§ T Bd 7
(a) SIHIGIET GUROT FIoar=ar fI9H 390 vee SHoE.
(b) 3ATYY GHRYT hedl T @ GUvA aIRdie 9 @i T8 @6 9 8Re.

(c) YU FEAT TR H.

(d) forem oo @12 oo RTfesm sifys yAmE vRdr gfafaet Jared 9 @i S

T I

(1) (@) e (b) (2) (c)=nfr (d) (3)  (b) T (c) (4)  (d) 3 (a)

According to lady Minto, the credit for the Morley. Minto reforms goes only to Minto and

not to Morley. However Morley wanted to introduce comprehensive reforms is clear

from which of the following statements of his correspondence ?

{a) We should take steps towards introducing reforms for the common people.

(b) If we fail to do so, the demands would go on increasing and would become a
national cause.

(¢) Reforms should be introduced from the grass root level.

(d) More Indian representatives should be appointed on district local boards and
municipalities and see that they get more rights.

Answer options :

(1) (a)and (b) (@) (9 and (d) (3) (b)and (¢) (4) (d)and (a)

50, afr SfES-E STHIfy Heam ¥arys v [EIoash! IVl Ao+l AEH 138 ?
(a) TS A
(b) eI ST
(¢} TS HS
(d) TR st
TiE 39T
(1) (@ af@®) 2 @A) @) (© ) @) (d) ()

Who from amongst the following leaders contributed towards establishment of the Bombay
Presidency Association ?

(a)  Phiroz Shah Mehta
(b) Balshashtri Jambhekar
(c) Bhau Mahajan

(d) Badruddin Taiyabjee
Answer options :

(1) (a) and (b) (2) (b} and () (3)  (¢) and (d) (4) (d) and (a)
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51. 3.9 1875 =1 YaH=aT=11 SS9 ' SBEAH 371’ TG d YEIaush! v foead 79T B ?

(@) um (b) e
(c) AT (d) IR
ﬂ'ﬂfﬁﬁ:

(1) (a) 3T (d) (2) (o) A (c) (3) () S (b) (4) (o) S (a)

Farmers Riots in 1875 known as the “Deccan Riots” had spread in which of the following

districts ?

(a) Pune (b}  Nashik

(c) Ahmednagar (d) Kolhapur

Answer options :

(1) @and(d) (@ Mand@© (3 (Dand() (@) ()and ()

52. ST TITHHTET shidiehR! W ol Td el Jaren iR, o9 21 99 g Feedn Jods
WRATITE HATTHRR T2l 0T 3Te |

IAELE fFTen 9 YAELs WeH arEAr sal <U 31 AfYFR THI-THH FR@ FHI0A A,

(a)  WT SR WIS ST HaTel STHHR .

(b) Tofa e AR @ Tt Twfaw 59 1.

(c}) FEHL TEU & ATFR Tifaa SerHat o el

(d) Tfge aarEn Afusr IIEeE fATen 9 JAee WIH ue Iifuna: U f9ae 9 wes

T I .
TS TR Yt HIvR /ot faem/ faur srar o /3vmed ?
(1)  HIUET e 2@ (@) 3(b) (3) B)d() (4) (d)

The revolutionary feature of the constitution of India was the adoption of universal adult
Franchise. All Indians above the age of 21 were allowed to vote !

In other countries such as the United Kingdom and the United States, this right had been
granted in stages.

{a}  First only men of property had the vote.
(b) Then men who were educated were also added on.
(c) Working class men got the vote only after a long struggle.

(d) Finally after a bitter struggle of their own American and British women were granted
the vote

Which one of the above four statements is/are incorrect ?
(1) None (2) (a)and (b) (3} (b)and (c) (4) (d)
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53.  (A) anfin (B) fasm argA swwar 9 g faen,
(A) YERE WIEE A S g Sed e,
(B) 1 e Aefte rqyfad Sdren fameataR: sooen aafaer=n A THe Jufedd
RUECRACH
et I
(1) (A) 3T (B) ST 3184 & (B), (A)d T=HI FLd.
(2) (A) 3nfor B)aﬁmaﬁav@ A)a'wz"rmrwéamé
(3) (A) T 3R, (B) THid AR,
(4)  (A) TF 3G, (B) WO TF M.
Read the statements (A) and (B) and choose the right answer option.
(A) Bhaurao Patil had to leave the Jain student’s hostel.
(B) He had attended the inaugural function of scheduled caste student’s hostel.
Answer options :
(1) (A) and (B) are true and (B} explains (A).
(2)  (A) and (B) are true but (B) does not explain (A).
(3)  (A) is true, (B) is false.
(4) (A} is false, (B) is false too.
54. WIOWG [MUMNE! HUH T 928 S80S @1 a6d WY e ?

(1) o SErTs 49 7ErTe el SRS Sios See T o seie qien gimfded s
FHAT AT,

(2) o e GEEE e S {5 T aafne deed B et g,

(3) i fEy-Tfeen CaEER R e

) o fafew smwafass Fide ae fodt.

Which one of the following statements about Sir Syed Ahemad Khan is incorrect ?

(1) He established Mohammadan Anglo Oriental College at Aligarh which later became
Aligarh Muslim University.

(2}  Hefounded the Translation Society which was later renamed as the Scientific Society.
(3) He emphasized on the unity between Hindus and Muslims.

(4) He sided with the Congress against the British rulers.
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26 . A

T 1956 T = Frepier. i 15 gda Fet 46,

ot <fequtes &t @esl T 9 g arin faetd g g fae,

(a) RS g TrfenearTer 35 @R
(by HoHA R Fdkar g ama,

(c) VARSI T8E 9 TSR Yo A aTe et Sl St JEn qsid AT A e
ClEaf i

i 17 YR o fau e e ?
(1) R (a) (2) T (b)
(3) HE (c) (4)  wHIvTdE

In 1956 the states of India were reorganised on the basis of language.

We did not impose Hindi on South India and allowed the regional languages the freedom
to flourish.

However,
{a) Pakistan imposed Urdu on East Pakistan.
(b)  Ceylon (Sri Lanka) imposed Sinhala on northern Sri Lanka.

(¢} Jawaharlal Nehru and Sardar Patel feared that linguistic states would threaten the
unity of India.

Which one of the above three statements is incorrect 7

(1} (a) only (2) (b)only

(3)  (c) only (4)  None of these

THoeAT THIHTETE AN / SPACE FOR ROUGH WORK
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(a)  HA FuEH! @ w™
(b) &N ST 2T (i) <&
(c) o=l Jeasd (iif) <
(d) =€l qEEe™ {iv) $HH
it I ;

(@) () (g (d
(1) ) ® (v) ()
(2) Gy () @ (i)
B) (@v) (i) (@) )
) (@) Gy ) )
Match the names of the leaders with their code names.
(a) Sucheta Kriplani (i) Kadam
(b)  Aruna Asaf Ali (i) Dadi
(c) Achyutrao Patwardhan  (iii) Didi
(d) Baba Raghavdas (iv) Kusum

Answer options :

@ B © @

1 G) 0 @) G
@ @) @) O @
() (v @) @
@) ) 6 0

1915 &1 TR SNfhdhgT T ET=] ‘M U wRIfTe Y B! HeA TEEe o Yo
ITHUR’ AT A SR THIS Bl Yel@deh! hIvId YI TIAT SISO SIS ?

(a) e =R fRede YaES W

(b) el STEHRIEG e sds FTRUAM=A] w991

(c) Thad WTSiel Naward T

qiet 39

(1) (a) 3007 (b) (2) () ¥ () (3) (a) 3 () @ = @ Ob) ()
After his return from South Africa in 1915, Gandhi acquired the reputation of a man who
would take up local wrongs and manage to do something concrete about them. Which of
the following wrongs did he deal with successfully ?

(a) Champaran Indigo Cultivator's problems only

(b} Ahemadabad Textile Worker’s problems only

(c) Bardoli Peasant’s problems only

Answer options :

(1) (a) and (b) (2)  (b) and (c) (3)

(@) and (c} (4) all {(a), (b), (c)
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58. VA YSIErER FeaMal WA AERE T S sanda gy stielan gial. adyus

(1) el AoMAihgT (2) O AEITAIwGA
(3) woEeH AGUHIRGT (4) WUST SRS

After India became republic there were protests all around asking for creation of states on
linguistic basis. Initially the strongest protests however came from :

(1) Kannada speaking people (2) Telugu speaking people

(3) Malayalam speaking people (4) Marathi speaking people

59. el st Tigedl Ae% WANSHAN U S R Tegd. T WG ST 1w ?
(1) & dh.3R.atisgHy, Al YHIE qael, Sl AemE, ST, s S wogEy =g,
(2) TR STaSHY, THTH Heholl, T ALE, W0, W97 3000 FroE =g,
(3) SR sisTHy, W.USIICER, Y THIE g, S TR ST e 9g.

(4) S o1 3ESH, TER oo, THI THIG Yo, Wi 7Y 70 I0qEy =g

The First Nehru Cabinet of fourteen included five non - congressmen, who were these
five ?

(1) Dr. B.R. Ambedkar, Shyama Prasad Mookerjee, John Mathai, C.H.Bhabha and
Shanmukham Chetty.

(2) Dr. B.R. Ambedkar, Radhakant Mookerjee, John Mathai, C.H.Bhabha and
Shanmukham Chetty.

(3) Dr. B.R. Ambedkar, C. Rajgopalachari, Shyama Prasad Mookerjee, John Mathai
and Shanmukham Chetty.

(4) Dr. B.R. Ambedkar, Sardar Patel, Shyama Prasad Mookerjee, John Mathai and
Shanmukham Chetty.
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60. M IS THHR G T TRV GH AGE wed WG, 91 HE @Y @ 2
() @ 7 I wiew wife-a2 TyE dst IR
(b)  HRE FagAay o qeUs 2.
(c) T YRGS EBviEET hidEdr Ay .
i e
1) () 2 (b Gy ©@ (4) iodsl o T
What is not true of Khan Abdul Ghaffar Khan who was also called Badshah Khan ?
(a) He was the Pashtun leader from the North West Frontier Province.
(b) He founded Khudai Khidmatgars.
(c} He criticised the congress on the partition of India.

Answer options :
1) (1) (2) (b (3) (o (4) None of the above

61, woreds! &vR Y&y fermeitda ygwamar ym = ?

(1) ferie wem 2) fedefd

(3) =R (4) o T TR

Which one of the following is not a feature of the glaciated landscape ?
(1) Eskers (2) Prumlin

(3) TRoche Montane (4) None of the above

62. WIH & fauHTIHRT HIR TG L ?
(a) AN, A g HHT ATl 97 5 AEH & aTferR S,
(by wIT St AR fam 25 km i T S amava® .

q‘ﬁﬁ’f B‘ﬁa( :
(1) 9 (a) 7T R () FEe@ (b) AT IR
(3) 9 (a) AT 7 (b) (4) <= (2) F (b)Y

Which one of the following two statements is correct ?

(a) Wind is a moving air which has a speed more than 5 knots.

(b)  The minimum speed required to generate wind energy is 25 kms/hr.
Answer options :

(1)  Only (a) is correct (2) Only (b) is correct

(3) Neither (a) nor (b) is correct {(4) Both {a} and (b) are correct
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63.

64.

65.

30 A
JedTe] AT ATIHE TRMTIRT Eie Je a9
(1) @Teea Yoo FH 8 (2) o THING STEd
(3) AT YHIOE e (4) =T YHNE FTEd

With increasing depth, temperature in the interior of the earth _

(1) Decreases at an increasing rate  (2) Increses at an increasing rate

(3) Increases at a constant rate (4) Increases at a reduced rate

femreams efiIeRe Tenieni 9T WIS S8 HE

(1) YR fGUScy IWEHE Tehd FEAH Sg1 a3 (9= 9 78) d SRaig 9a ITEe
THED o

(2) RAE fEThed IS TiEd T TPl Q@ S S Ihas sHa 10,

(3) e efarviene wehd oTHAE fewmearsn /R &8 (fvem 9 w@) wm (T e S
TOH THTS TS,

(4) ferm ggn TFREE (To01) SRS d.
The curved shape of Himalayas to the South is due to :

(1) Maximum push offered at two ends of the Indian Peninsula during its northward
drift.

{(2)  Maximum push offered at centre of the Indian Peninsula during its northward drift,
{3) Maximum push offered at two ends of Himalaya during Eurasian Southward drift.

(4) Tethys sea was curved in shape to the South.

WSt v Big-ard faEdda w5 SEmE ggl 5 S I |l
(1) 1 (2) W 3) fed: (4) W

In which of the following months, low pressure belt over the equator swings by 5 degrees
to the north ?

(1} June . (2} September (3) December {4) March
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66, HEWISZ aviadd ARt fed ol wigEst 9 w@esdl d

(a) weWre guio frie sfamicls g% %0 o1,
(b) ST S | AFEig Hea SafEs T Te SIS 9 Wesd [Ee & gE wod

IS S

(c) M Trridid 75% ST ToIahR 30 X IaRd 25% (GhH Talda SWYRE 1ol TR
e G @Y el 9.

o] FIvt/Fo faar/ faan sieR R/ 3 d ?

(1) v (a) (2) W (a) S (b)

(@) " (b) AW (o) (@) (@), (b) 3 ()

‘Maharashtra Golden Jubilee Nagri Dalit Vasti Water Supply and Sanitation Scheme’

(MGJNDVWS).

(a) has been launched under Maharashtra Sujal Nirmal Abhiyan.

(b} To provide domestic water connection and individual toilet to the families of SC and
Nav Budha.

(c)  Under this scheme 75% grant is provided by the state government while remaining
25% contribution comes from beneficiary or Urban Local Body (ULB).

Which one of the statements given above is/are correct ?
(1)  Only (a) {2) Only (a) and (b)
(3) Only (b) and (c} (4) (a), (b) and (c)

67. 2001 = HITTH® STATUHTER TYid Famgidr THIVTTER Idl 0 o,
(2)  WTHOT o WO
(by  TTHIV A AT
(c) AAFE @ AT
(d) AT Qg
DD
(1} @) @)@ ) 2 (b)) @@ @ «© d)@E @ @ b)d)

Arrange the incidence of migration streams (of India) in descending order as per 2001
Census.

(a) Rural to Rural
(b} Rural to Urban
() Urban to Urban
(d) Urban to Rural
Answer options :

1) @ 0@ 2 ®© @@ @ (©d @b @ @b de
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68. TN =AM Hadq AfusHr (WEidvr) 3 77+ 2011 948 oo STRAOHYR eRILie arefs]
perc ) R S - | O | -

(1) 139 - 170 2) 159 - 179 (3) 169 - 180 (4) 179 - 190

As per the status report released in March, 2011 by the ‘National Tiger Conservation
Authority’ the population of tigers in the Maharashtra state is estimated between
to

(1) 139 - 170 (2) 159 - 179 (3) 169 - 180 (4) 179 - 190

69, WIGIHT HMw] Tewd fogioem T e ?
(a) ST TR
(b) TEI=H il G
(c) PHT TTEIRTET SRR
(d) ®Fw R
it S
1) (@), (). () () (b), (@) (d) 3 (@ () (d) (4) (@) (b) (&)

In which of the following regions the dispersal settlements are found ?
(a) Mountainous regions

(b)  Fertile river basin

{¢) Low rainfali region

(d) Konkan coast

Answer options :

1) (@) ®) () (2} (b) (o), (d) 3) (@ () (@) 4) (@), () (d)
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M)
(2)
3)
(4)

Match the pairs :

(iv)
(iv)

Hammada

Reg
Erg

Badlands

(b)

ii)

ii)

(
(i)
(
(

iii)

(c)
(1)
(ii)
(i)
(1)

Answer options :

(1)
(2)
)
(4)

(a)
(1)
(i)
(iv)
(iv)

(b)
(i)
(iid)
(if)
(iti)

(c)
(i)
(ii)
(iif)
(i)

(i)
(iv)

(d)
(iv)
(iv)
()

(i)

33

Rocky desert
Sandy desert
Stony desert

Gully erosion

HO4
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71. WO® G fauHitst FIvd SRS TR ?
(a) HHRIG YA T THBUH Tsh Tgufel .
(b) TSRIGUET STTOMHES FQemadd FAR 2 THI=1 d=€1 B A%,

it 39
(1) F9& (a) IR IR (2) *de (b) TR B
(3) 7 (a) ST T (b) (4) (a)a (b) TR TWaT

Which one of the following two statements is correct ?

(a} India is approximately a quarter of China in size.

(b) There is a time lag of approximately two hours from Guijrat to-Arunachal Pradesh.
Answer options :

(1) Only (a) is correct (2) Only (b) is correct

{3) Neither (a) nor (b) is correct (4) Both (a) and (b) are correct

72. G4 1942 92 30N foRiYE E Fow T W6 (S Yid) Jede Jugyii @t wer.
(a) SUSTAT e i Teawia F TS,
(b) o FeaEE T fer wide ke A
(c) TE 3u=ge .y st e o AL
(d) <ureATdt S@awE! AEe HEE A wH TS

it 34y ;
1) (a), (b) 3 (c) (2) (o) anfor (d)
(3)  (b), (c) S (d) 4)  (a), (b), (c) 3T (d)

‘The Quit India” movement organized in 1942 against the British was a failure because

(a) Britishers divided the movement by cunning methods.
}  Muslim league did not support this movement.

(¢) The unarmed Indians could not stand against the armed Britishers.
(d) The leaders failed to organize a country - wide movement.

Answer options :

(1) (a), (b) and (¢) (2) (0) and (d)

(3) (), () and (d) (4) (@), (), © and (d)
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73. WOS o faue/ e S ST gy oy ?
(a) SATE Frarlt FeHITE TIRUR Got § YIS gO o UaTUe ol
(b) T R foooi=an e Mt $eNe T Wiga afimr snfiwren ww g g
ATEEF Frareeda.
T 39
(1) F92 (2) (2) @ (b)
(6) @77 () (4 TR (@)
Which one of the following two statements is/are incorrect ?
(a) Chhatrapati Shivaji International Airport Mumbeai is the country’s second busiest
airport.
(b)  The above said airport along with Delhi, Indira Gandhi International Airport handles
one third of the air traffic in South Asia.
Answer options :
(1) Only (a) (2) Only (b)
(3)  Neither (a) nor (b) (4) Both (a) and (b)
74, YA HaUde Yerumete wE wew 9 o T (17 6.1 geda)
(a) ST @  28.0
(b) THizHHA Gi) 8.1
(¢) SAegfaiTam (iii)y 47.0
(d) =@ (iv) 11.1
(e) hiceram, wifswm, MERPM 9 WHfmm v) 95
e I
@ () (© (@ (¢
1) o @) (v ) (i
(2) (i) @) () ) W)
() @ @@ (v} (iv) (i)
(4) G @) @ () @)

Major contents and their proportions in the composition of the Earth’s crust (up to 17 km
depth)

(a) Oxygen @ 28.0
(b) Silicon iy 8.1
{¢) Aluminium (iii)y 47.0
(dy Iron (iv) 11.1
(e)  Calcium, Sodium, Potassium and Magnesium vy 9.5
Answer options :

@ () (© (@ ()
M 0 6@ © @ @
@ ) 0 (@) © @
@ 0 @) © )
@ @ @ 0 © W
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75. Siedl BT

(d)
(e)
(f)

daron
FHUE "
Higl He

et I

(1)
(2)
(3)
4)

Match the pairs :

()
(b)
(©)
(d)
(e)
(f)

@ (b)
M )
M )
M v
0

Place

Kalsubai

(d)
(v)
(iif)
(ii)
(v)

Harishchandra gad

Torna

Mahabaleshwar
Kumbharli ghat

Phonda ghat

Answer oplions :

(1)
(2)
3

}
(4)

(a)  (b)
© ()
@ ()
@ (v
@

{0)
(iv)
(i)
(vi)
(iv)

(d)
(v)
(i)
(i)
(v)

()
(iii)
(v)
(i)
(vi)

(e)
(i)
(v)
(i)
(vi)

(@)
(i)
(iii)
(iv)
(v)
(vi)

@
(ii)
(iii)
(iv)
(v)
(vi)

(f)
(vi)
(vi)
(v)
(itd)

36

3ot (Hew)
1646

1438

1050

1424

900

1404

Height (in m.)
1646

1438

1050

1424

400

1404
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76. Sedl oM
(a) viam feTamEde &b () FeoTd gEdiH
(b) v S dedw () AR Y wrE wed fhifd
(c) & RS BRET (iif) e Haae Ao FiHd

(d) TSN IUAIARIS SeUR F R (iv) e ! T e At v
Tt 3

(@ (b) (o) ()
(1) vy (@) (D) (@)
2) @) @) (i) ()
¢y O @ @ )
@ 0 @) (i) ()
Match the pairs :
(a)  Diu near west coast (iy  Peaks of submerged Jslands
(b} Shriharikota along the ea'st coast (i) Formed from coral accumulation
(c) Lakshadweep in Arabian Sea (liiy Formed due to sand deposition

(d} The Andaman and Nicobar (iv} Part that has separated from main land
in Bay of Bengal

Answer options :

(@) (b)y (o) (d)
() (v) @) @@ @
(2) () (i) (i) ()
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77. WiTsien @i FOE TR TR, anas 9 sifewren fawda oma ?
(1) o, e o Hemsg
(2) Flew, Fles 9 qiHGG
(3) ITmeY, A 9 U
(4) TEUTEB YW, AMGE 9 WUAG
Name the states that are opposite to Bihar, Jharkhand and Orissa in mineral content.
(1) Gujarat, Rajasthan and Maharashtra
(2) Karnataka, Kerala and Tamil Nadu

(3) Uttar Pradesh, Haryana and Punjab
{4y  Arunachal Pradesh, Nagaland and Manipur

78, 15 3 1947 Y Gioe WL UIgd it §d SRR YRaTsd SHIoAraTeR T8l e,

(1) ArTe-REEE-HIHT
(2) ERTETE-9Tes- e
(3) I AT TR

4) FRIR-FEER- IS

Before 15 August 1947 all small state princes except the following signed on the bond of
Joint India.

(1) Junagad - Hyderabad - Kashmir

(2) Hyderabad - Bhopal - Zanshi

(3) Bhopal - Junagad - Badoda
(4) Kashmir - Hyderabad - Bhopal
79.  WRAE TS MEAEEEd ST1g WY AT ?
(a) VAT e YR AT B ST U T 9 el o, SAest qe v 9 il a
TEAIVT TP Sl |
(b) WA Fe T F TS TSd TRT A THE qigAT el
T 39
(1) 9% (a) (2) %= (b)
(3) ()T (4) = (2) ¥ (b)

What is not true of the Indian Rainfall ?

(a) Late arrival of monsoons has now become a normal feature. The year in which it
starts late it mostly retreats early.

(b)  There is no month of the year in which rain does not fall in some or the other part of

India.
Answer options :
(1)  Only (a) (2) Only (b)
(3}  Neither (a) nor (b) (4) Both (a) and (b)
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80. Y T WRAGUHT HITEN TR TR 378 ?

(1) wEEE () =wiEEH e (3)  Wfaw (4) Wi
Exfoliation is which of the following types of weathering ?
(1) Chemical (2) Physical (3} Biological (4) Oxidation

81. IT1919 = 'z wEA TR :
(a) FERl forn Sl writ 3o FUR S,
(b) 3T HUATE! faHom Fed! U wha .
(c) HIVTE SAERIET HYETEsT 7T Hid U B,
(d)  TRANS! AHE FIA IR T,

FheNE FIUHr FaYR T e ?
(1) (), (c) 3nfor (d) (2)  (b) =D (d)
(3)  (a), (b} 3O () 4)  (a), (b}, (c) @ (d)

As per the Rowlatt Act, of 1919

(a) Any one could be hung without inquiry.

(b)  British could search any place.

(¢) They could arrest any person on suspicion.

(d) The criminal could not appeal.

Which of the statements given above are correct ?

(1) (), (c) and (d) (2) (b)and (d)

() (a) ) and (¢) @) (a), (b), (¢) and (d)
82. UG 30 U&T LT el /T VI (YHIOT) Srwuid W vl e arean @eet e

oA T GTEE A §

(1) FHIEEEgeH (2) fAToEaE

(3) srffRHTA (4) AR

When organic materials with C/N ratio of more than 30 are added to the soil then there
willbe _ of nitrogen during the initial stages of decomposition.

(1}  Immobilization (2) Mineralization

(3) Ammonification {(4) Nitrification

oAl SHIITETS! AR / SPACE FOR ROUGH WORK
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hr FERTED ET A T 19 92 AR,
A AT TS (AUt FI0TH D e ?
(a) e (TRIEN Hoard 113 e 371,
(b)  FW FRER Aled0 TG TR,
(c) ®H ¥ UF g7 SaoHE! AR
(d) ARHM € @2 TH JE HrerE! Ak,
i Y
(1) ()4 (b) (2) @3 A(d) (3) @9 () 4y ()9 (d)
In all there are 19 1slands in Nicobar group of islands.
Which of the following statements about them are incorrect ?
(a) Great Nicobar is the largest island.
(by  Car Nicobar is the northern most.
(c}  Barren lsland is an extinct volcano.

(d)  Norcondam Isiand is a dormant volcano

Answer options :

() (a) and (b) (2} (c) and (d} (3} ({a) and () (4) (b) and (d)

84, WS faymen fouar =y
(a) WHEAZ - WX TIeATd! wHIo HAE 9 Hieeien qrvarE! [ mafer andte o,
(b) HAUTE - TR fFaM AARUSIREe T fSyme=a W AN 3US 1w,
(c) 3UGE - HAedi=n [HAF AFieUgA e Suad Agigdasn 9.

(d) T 9T - W BOEE NI (e Tgwel Taesl wHaEn 9,

(1) (@) =t (b) T (2) (), (b) N (c) TR

(3) (b}, (c) T (d) T (4) (@), (b), (c) AN (d) TR

Consider the following statements :

(a}  Shore - zone of land between highest high tide water and the lowest low tide water.
(b)  Off shore - Represents the zone of shallow bottom of the continental slope.

{c}  Fore shore - Extends from lowest low tide water to mean high tide water.

(d) Back shore - zone starting from mean high tide water to sea cliff base.

Answer options :

(1) (a) and (b) are correct (2) {(a), (b) and (c) are correct

(3)  (by, (c) and (d) are correct (4) (a), (b), (¢} and (d) are correct

ol FHTAHETE AFT / SPACE FOR ROUGH WORK
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85. W WNAE Fivm=n RRfegat s w= S Swir=an §HT URid SIed TRd ol T
(1) WG, 9, TR, FTETTET 9 qiHar
(2) NG, A, YaH, = o difeshiEH
(3) WR4, S, AHTTRE, Yar @ e
(4) NG, 99, qAF, ABTIRE 9 s

The apex of the north Indian triangle is the meeting place of five countries of Asia

namely :

(1) India, China, Tajikistan, Afghanistan and Pakistan
{(2) India, Nepal, Bhutan, China and Tajikistan

(3) India, China, Afghanistan, Bhutan and Nepal

(4) India, China, Bhutan, Afghanistan and Tajikistan

86. TN THEATSN GHMG UIHTR WSS Hedh YT Ham.
(a) TUR dreamHte AW
(b) T st

(c) ¥ TTEvI HSAH

(d) argrEr e

it 3T

M) @) @ @A) @) @A (@) () M)
Uniformity coefficient in sprinkler irrigation system is affected by __ .
(a) sprinkler spacing

(b) crop geometry

(c) time of operation

(d) wind condition

Answer options :

(1} (a) and {b) (2) (a) and (c) (3) (a) and (d) (4)  (c) and (d)

FHol RIWMATGT AT / SPACE FOR ROUGH WORK
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87. ATl TN € WEOTAT BT GUEIYAT TR AR T BT § gRHE ¢ [Erea TEH

WAl EE _emw . JR.

(1) 16% o1 32% (2)  12.3% =T 13.3%

(3) 2900 3nfor 6371 (4) 5.5 FM 10.00

The density of the core is more than twice the density of the mantle but the volume and
mass of the core are and _ __ of the total volume and mass of the
earth respectively.

(1) 16% and 32% (2) 12.3% and 13.3%

(3) 2900 and 6371 {4) 5.5 and 10.00

88, a1 Is Y= Tt <F o favmmet et o,
(a) TN 9 AieE fega S gt eie giaue .
(b) FeFHIe Taewiiga O IaESe e 1.

e Fa faum atET R ?
(1)  F9 (a) T 3T (2) B (b) R TS
(3) 7 (a) T (b) (4) T @) F (b) TN

Ajanta range at its eastern extremes is divided into two spurs :

(a)  The southern one passing through Parbhani and Nanded districts is calied the Satmal
range.

(b)  The northern passing through Yavatmal district is called as Nirmal range.

Which one of the above statements is correct ?

(1) Only (a) is correct (2)  Only (b) is correct
(3)  Neither (a) nor (b) is correct (4) Both (a) and (b) are correct

89. WERTR[d® ugwW WUo &S] %R uEE, % ¥ giftm A
% & Tl STONET! AT,
() 5,171,84 (2) 11,5, 84 (3) 84,11,5 (4) 85,5, 10,
tv  of total forest area in Maharashira __ % is under reserved forests,
_ % is under protected forestsand __ % is under unclassified forests.
(1) 5 11, 84 (2) 11,5, 84 (3) 84,11, 5 (4) 855 10
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90. 2001 =41 STIURTAN HERTER 7 (YA oo Wil (% Hea),

(@) I Q¥ @ 1593
(by wAfeH (iiy 28.33
(€} ToE (i) 5.90
(d) HEIYRH (iv)y 11.61
(e)  STiygew (v) 8.07
T S

(@ ® (o) (d) (e
@ @ @ (v (i)
) Gy @ (v) (v) (i)
@ O @ W (@@ )
4y @ @@ Gv) @) ()

According to 2001 census, migration of people from the other states to Maharashtra
{in %).

(a) Uttar Pradesh (i} 15.93
(b} Karnataka (i) 28.33
(c} Gujrat (i) 5.90
(d) Madhya Pradesh (iv) 11.61
(e} Andhra Pradesh (v} 8.07

Answer options :

() (b) (¢} (d) (o)
I @ O  (v) (i
() @ O v () (i)
G @ ) (v 3§ ()
(4) @ (D ) (G ()

91, HYZ HET TR e = fohedt o ?

(1) 60,000 ¥ 80,000 T, (2) 16,000 @ 29,000 T =,
(3) 35,000 d 65,000 fe. 4. (4) 10,000 ¥ 30,000 f& .=,
What is the height of the atmosphere above the sea level ?

(1} 60,000 to 80,000 km (2) 16,000 to 29,000 km
(3) 35,000 to 65,000 km (4) 10,000 to 30,000 km

o] SRTHTETE! 9T / SPACE FOR ROUGH WORK
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92. 1991 AFHSAN THR e (R hohoEa Hald wRd a7 foyg fSeame g @
Y A1 e F8 JTEm.
(1) SleTE, T, Qo d JoEdt
(2) TN, e, FavEd 9 Seme
(3) WOTR, 39UEd), SBmd g TR
(4) IS, YT, T & send

As per 1991 statistical information the highest hectarage under total fruit orchards of the
Maharashtra state is in the Sindhudurg district followed by which of the following
districts ?

(1) Jalgaon, Ratnagiri, Solapur and Amravati
(2) Ratnagiri, Solapur, Amravati and Jalgaon
(3) Solapur, Amravati, Jalgaon and Ratnagiri
(4) Amravati, Solapur, Ratnagiri and Jalgaon

93. 2011 =4 S VH{HR HERITAIS YEior fSoe S Medsivl Ao 3Tied qas, o, Ty, 0. W
FAld At et Ao foeg HIvd ?
(1) T, ste, (2) el faygd, femet
(3) e, TgER, TR (4) oy, aifvm, st

The following districts of Maharashtra state are the most urbanisied according to 2011
census. Mumbai, Thane, Nagpur, Pune. However, which are the least urbanised
districts ?

(1) Parbhani, Beed, Hingoli (2) Gadchiroli, Sindhudurg, Hingoli
(3) Gadchiroli, Nandurbar, Parbhani (4) Sindhudurg, Washim, Beed

94, TYedTeie G RIS T TR JTodide) Th HIed 6ol T Hiowhard] ECCaRN G
TS .
(1) 30 (2) 40 (3) 50 4 60

Due to Global Warming a one metre rise in the sea-level would flood over ___
percent of Kolkata.

(1) 30 (2) 40 (3) 50 (4) 60
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95. X FHfeduNnIs AETEl 419 :
(1) 30 HicHmdie sAaaien AmEaH SHEa.
(2) & I wicduidte Aeaien AMNAR FH! G Sl W HEL.
(3) I HicAUTde Aeai=a IS R S9l.
(1) I HiTAURITS Saai=al A& FH) 315,

The diameters of temperate cyclones are :

(1) equal to those of tropical cyclones.

(2) sometimes bigger and sometimes smaller than those of tropical cyclones.
(3) Dbigger than those of tropical cyclones.
(4) smaller than those of tropical cyclones.
96. WRAM WK ST gSagii-eh %40 (E-waste) Ay fmfur 2.
(1) sneE (2) earm (3 @ ™

In India, the largest amount of E-waste is generated in

(1) Bangalooru (2) Hyderabad (3) Mumbai (4) Pune

97. HeWrZ THhAITON TSI RUIEl Sadl HH ARASTHR SR,
(1) faamE, $ams, MR, SO R, oA, e
(2) Toar, fasw, SHHET, FAWE, TR, FH FHRO
(3) TSR, SR, &, $arE, foam, sae s
(4) Toem, $ems, fadre, st I, AR, FHFT

In Maharashtra percentages of the causes of Migration in descending order are as
follows :

(1) Marriage, with family, employment, other reasons, after birth, education.
(2) Marriage, education, after birth, with family, employment, other reasons.
(3) Employment, after birth, education, with family, marriage, other reasons.

(4) Education, with family, marriage, other reasons, employment, after birth.

HTAT HIATATS I / SPACE FOR ROUGH WORK
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98. YTREFS AT €1 Feideh! {ohdl 2% o1 GIIYes TWadrd B ?
(1) 27% (2) 34% (3} 51% @) 17%
How much incoming solar radiation is reflected by the clouds ?

1) 27% 2) 34% 3) 51% 4 17%

99. uREwdie Ffyame :
(a) THATT 3778,
(b)y F fafmr wogER FHl 8 S,
(c) Hort fafme TaOaaR aEd .
(d) S fafrre wagEr fer we.
FUBUHT B/ FHI0ET FIaM /3 SET 3N/ 3708 7
(1) ¥ (a) (2) e (a) 3T (b)
(3) (). (b) A (o) (4) (), (b) 2fo(d)
Energy flow in an ccosystem :
(a) is unidirectional
(b) decreases with successive trophic levels
(c)  increases with successive trophic levels
(d) remains constant with successive trophic Jevels
Which of the statements given above is/are correct ?
(1)  Only {a) (2)  Only (a) and (b}

(3) (a). {b) and (c} (4) (a) (b) and (d)
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100, fagaeEa demma et A S

(1)  &fe A S84 Hie W

(2) TTSIEEHE SRER WE

(3) ATEA AR

(4) Y TR

Equatorial lowland usually experience :
(1) Large diurnal range of temperature
(2) Heavy rains with thunder

(3) Strong wind

(4) Cold nights

101.

STTRISETA HHHT A T 1000 AIVEAR 4 TH GS! S €N AEEF AR, AE qadd

1000 ATOFGINM Fad UL GO A0 ST

(1) 0.03 (2) 0.09 (3) 0.01 4) 0.06

As per international standards, the minimum amount of open space required per 1000
persons is 4 acres, for Mumbat, the availablity is hardly acres per 1000 persons.
(1) 0.03 (2) 0.09 @) 0.01 @ 006

102. UFiSAHte i 9 30 ar/ =uR

(1) 2 < @) == 4) frgo

The gusty dry and warm winds of Rockies are :

(1) Fohn (2) Loo (3) Chinook (4) Mistral
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103. QOIS ARG T @SS TR HIUE] TS ?

(1) A= (2) (3) wEER @) W

Arrow in the map indicates which of the following winds ?

(1)  Chinook {(2) Zonda (3) Kamsin (4) Fohn

104. Gt faumEt faar &1
(a) 1 WaEifa® AN AUHST T4 8d 7T 79 AamsrE! diaa 60 St
(b) FoTS T S 5 q 10 et Ea.

FUeHE! Hiv faar/ S0ET e/ 3ed ?
(1) %5 (a) (2) 9 (b)
@) T(@)(b) (4) < (a) A (b)

Consider the following statements :

(a) The loudest sound that a person can stand without discomfort is about 60 decibles.
(b) A whisper is about 5 to 10 decibles.

Which one of the above two statements is/are correct ?

(1) Only (a) (2) Only (b)

(3) Neither {a) nor (b) {4) Both (a) and (b)
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105, 2001 =1 SITTURER Ha3die FeTgaid WaRd=n FHIvmsT Zahar _ A,
1) 30% () 55% (3) 83.13% ) 17%
According to 2001 census the percentage of Literacy in slums of Mumbai was

1) 30% (2) 55% (3) 83.13% @) 17%

106. TATEEOT (W) FHRZ-1986 B 1 Feaelt aAfeend ammen 1 <41 faaeil qeiel Yaqd Sause ar=n
S feag e

(1) oS TegL e (2) sfen it
(3) T e (4)y .= e =

The Environment (protection) Act, 1986 came into force on the birth anniversary of late
prime minister :

(1) Lal Bahadur Shastri (2) Indira Gandhi

(3) Rajiv Gandhi (4) P.V. Narsimha Rao

107. AU TEdr Sfear FHT arad dag Y

(1) Y 4 59 qUHFHTS T9E dQ9u SSiEand.

(2) I S g ATHHIYEhRTA S ATIHIR S ek STH.

(3) I AT .

(4) HH TN FHE.

The relative humidity of a region is low when :

(1) the wet and dry bulb temperatures read the same.

(2)  the difference between reading of the wet and dry bulb thermometer is large.
(3) the temperatures are high.

(4) the temperatures are low.
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108. gRfredrat wrex & @ -
(a) ‘TEETIY SevrE HEiE iewe S
(b) wEYYY 3R TR A TEA Fo.
(c) oikos (¥X) T logos (S IE/ M) AT T T SGTIRT A 3T,
(d) oikos (¥X) dlogos (WA TEH) T S S WelIRA 21meit A2,
TR BV fAHH TS 307 7
(1) W (a) 7 (b) (2)  {a), (B) A (c)
(3) (a), (b) T (d) (4) =odR! THE AE
The term ecology :
(a) also known as ‘Environmental Biology’
(b) first was introduced by ‘Earnst Haeckel’
(c} derived from two Greek words namely, otkos =Home and logos = study/science
{d) derived from two Latin words namely, oikos =Home and logos = study/science
Which of the statements given above are correct ?
(1)  Only (a) and (b} (2) {(a), (b) and (c)
(3} (a), (b) and (d) (4}  None of the above

109. 21 AT 5 22 TdeR A1 foayll WSUHT Sivien Sergdiel Taig S B (Hesd ?
’10 5]
1y 235 (2) 45° (3) 663 4) o
Which of the following latitudes receives highest insolation on 21% March and
22nd September ?
10 ‘10

(1) 233 (2) 45° (3) 66, (4) 0°

110. fEamame e & a1 ey e AT T 9 IaaR 3. SR ¢
(1) 7 IWAS I Jeihe HIA.
(2) T I TR 1 STHNT A, AN TR B ywhwe Teadm.
(3) T ARG BUIRT IWE Fewel Y.
(4) =T AfasHeR STHr YAl SWEY WY FHEA I e Tead.
The cloudy nights are warmer compared to clear nights during winter days. This is
because :
(1) Clouds radiate heat towards the earth.
(2}  Clouds prevent cold wave from the sky, descending on earth.
(3) Clouds prevent escaping of the heat radiation from the earth.
(4}

Clouds being at great heights from earth absorb heat from the sun and send it
towards the earth.
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111, Ha2 ®ivre 99a R faq e 34 ?
(1) wF ] (2) Tl (3) 11 FHfor 1v (4) WHIV
in which coastal Regulatory Zone does Mumbai fall ?
(1) OnlylI (2) Tand Il (3) Mland IV (4) Only IV
112, TEUHER! (FR) =iuT=r s YU qTTETST ST o i g faed =
6 ZoFh WHd IAR SAH M Y@ A HEw.
(1) 600 fas. Qe st wsf=ram (2) 600 fA.HI. JaT ST IS
(3) 1000 Thdr Tem aAfys wsi=WE (4) 700 TREL U4 SRS 9SEE
Contour bunding is recommended for areas receiving and for permeable soils
upto slopes of about 6 percent in agricultural lands.
(1)  Less than 600 mm rainfall (2) More than 600 mm rainfall
(3)  More than 1000 mm rainfall (4) More than 700 mm rainfall
113. ATET-1 TR ArGL-11 =11 S S,
TATET - 1 1T - 11
(&ETE o) ( geafT=aT AU i qreT % )
(a) AT TAAHES i 06
(b) THT (i) 14
(c) FFRLHET (iti) 20
(d) THH SRS (iv) 60
TEfHt I
(@) (b) (¢} (d)
1) ) ) (i) (iv)
(2) ()} (i) (v) ()
(3) @) (iv) () @)
(4)  (v) (i) () ()
Match the List-I with List-IT
List- I List - II
(Green House Gases) (Share in Global Warming %)
(a) Carbon dioxide (CO,) iy 06
(by Methane (CH,) )y 14
(c) Chlorofluorocarbons (CFCs) (iil) 20
(d) Nitrous Oxide (N,O) (iv) 60
Answer options :
(@) (b) (o) (d)
(1) @ ) @ Gv)
(2) (i) i) (i) ()
3) Gi) v @ ()
(4) (v} () @) )
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114. 3@ g ey ARfAvaIst WIotat®! FIvd! Y= S HERIid aTRUAR 4% S ?
(1) Jus 24 (2) g (3) =T (4) TS -12

in order to increase production of oil seeds, which of the following new varieties of
groundnut was introduced in Maharashtra ?

1 1124 {2) Rohini (3) Chapha (4) Phule G-12
115. Go9 & Tad:= &7 Fd: 991 $F Oehd TR o T,

(1) et war (2)  wafiE e

(3) TEees (4) HIH 9&H

The organisms who do not produce their food thernselves are known as

(1) Secondary consumers {2) Primary consumers
(3) Decomposers (4) Carvivores
116. T SEAZN Widld qiFere Waro | Tk 3T,
(1y 10-20 (2) 20-30 {3y 30-50 (4) 60-75
Good loamy soils contain about % silt.
(1) 10-20 (2) 20-30 (3y 30-50 (4) 60-75

117. HMHE! FREE TUgSqH 0T O I B

(1) wt (2) B

(3) IFES Fg (4) Ffaar

The effect of Fluoride containing water on human health is
{1} Cold (2}  Jaundice

(3) Prematurc ageing (4) Diarrhoea
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118, SFIfds AHI 1% 3707 T 950 A HH (Low) 18TV HIHed ST
qlg F9 Tho.

(1) 3-53%a% (2) 5-10<ek
(3} 10-15 5k (4) 15-202Fh

At losv Iatitudes, rainfall is expected to be enhanced due to global warming and climate
change by about

(1) 3 -5 percent (2)  5-10 percent
(3) 10 - 15 percent (4y 15 - 20 percent

119. TR A=A 3770 AW ITHUNH HITER 970 sretauararat onfer carear fasdadiaig! art fwns
FI0AG S AR

(1) sfirfig gudesm (2) wHWEE! W USE oy

(3) WUYMHE HYTA (4) &R

On steep land slopes in watershed, for retention and disposal of water it is recommended
to adopt -

(1Y Land levelling (2) Contour and graded bunds

(3} Counter cultivation (4) Afforstation

120. TSOURT HITET FETGATE TG THAN S@ul G Aa8S 3L,

(a) Freridl =aoe

(b) T T Baes

(c) FraemgR ga Ao

(d)  Ho= YUes BE Ao

i 3

(1) () @ &g @ @i @ (@

It is very difficult to estimate the quantities of nutrients ______
(a) removed by crops

(b)  not removed by crops

(c)  lost by leaching

(d) lost by soil erosion

Answer option :

(N (@ (2) (b)) and (c) (3) (a) and () (4)  (c) and (d)
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121. et foae foem vga afave ST SR,
(1) 3Afas Troamed g (2) & F 7 g
(3) U I O (4) T3
Drip irrigation system is most suitable for __ Crops.
(1) water loving (2) salt tolerant
(3) low value (4)  fruit

122, BT A0 FE3dR AHoTA TR Eged falieq a1 qivare Gohed FI0ATHE!
HITRT FHEIH qSTE ST ?

(1)  SurH afgso (2) wEoA

(3) Y= (4) e gl

For collection of excess rainfall in hilly and undulating topography which type of pond is
used ?

(1) Embankment pond (2) Excavated pond

(3) Surface pond (4)  All the above

123. HAUMg GEESIq AT 9F SUAEIe | 7aE .

(1) 45-85 (2) 4-5 (3) 45-6 4) 6-8
Most common microorganisms grow best in the pH range .
(1) 45-85 2) 4-5 (3) 45-6 4y 6-8
124. fowimel |1 fFom=n Sda e votw evame! e oot &
(1) -ofean faed (2) ww-graw fedm
(3) IW-Td fazH (4) fem-ufyem feuq
For greater penetration of solar radiation in crop canopy crop should be sown in
(1}  East - West direction (2) North - South direction
(3) North - East direction (4) South - West direction

125, JHE WMWY e SHUN wEEeEl e
(1) =N 3 T HHd | (2) orEs g A wH
(3) 97 9 fafow v (4) =w w4
The plant nutrients present in the basic slags are

(1) Calcium and phosphorus only (2} Iron and Calcium only
(3) Calcium and silica only {4)  All the above
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126, FH I HegH SrEr=A MITHES THYReH 918 ATSTH wiedl STqred SIven Yah=a1 ST

AT FEME ?
(1) fgnafan (2) o= dE
(3) U= AHA (4) =0® w4

In low to medium rainfall areas in black soils with counter bunds which terracing is
practised ?

(1) Zingg terracing (2) Bench terracing
(3) Graded terracing (4)  All the above

127. Hasil Wheggm@ (porosity) SR 50% R W 7 O (void ratio) TTh THO.
(1) 0.5 (2y 1.0 3y 2.0 4) 5.0

If porosity is 50 percent voids ratio is :

1) 0.5 2) 1.0 (3) 2.0 (4) 5.0

128. I oY Fivrel fawmil s s ?
(a) THH YT UG FHT RO oM 49
(b) TS QROTRIET FHI 3T A9
(c) <o SiHA
(d) T SAW=AT AT
i I
1) () (2) () 3o (b) (3)  (b) 3ufin (c) ) (o) s (d)
Graded bunds are laid out in areas where :
() land is less succeptible to water erosion
(b)  soil is less permeable
(c) area has water logging problem

(d} lands have move slopes

Answer options :

1) (@) (2) (2) and (b) (3) (b) and (o) (4) () and (d)
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120 Taas A9 TMems STl w3l T3 @i Hea (el Mo FevarEE! 2,

(b)y ™AW farmwes &R

(c) BT FHY

(d) srfagsm ga Fm

Tt 39T

(1} () 37T (b) (2)  (a) 30 () (@) (b) ST (c) @) (c) e (d)
Sand filter is reguired in drip rrigation system to remove

a) algae

(
(b) dissolved salts
(c) debris

(

d) fine soil particles

Answer options :

(1) (a)and (b) (2)  (a) and () (3) (b} and (c) 4) (c) and (d)
130. Sfash A SEEEIESd 100 SNYE] FEqeHdiaEe Y9 86

(1) 275 S9I& Tid 91T (2) 450 TureE Uid 9

(3) 350 gerert wia um (4) 150 ZTRd Hiq T

On global level, 100 years back the CO, content in the atmosphere was _

(1) 275 ppm (2) 450 ppm

(3) 350 ppm (4) 150 ppm
131, TFoMfHg ST arem {Teame 9aR g,

(1) o, difeam, aid, T3 (2) WifeasTH, g, HefwEs, gfeaw

(3) M, wAfE, T, wEge (4) 5, S, et T
Acidic soils are formed due to leaching of ___

(1) K, Na, Cu, Ca {2} Mo, Ca, Mg, Na

(3) Ca Mg K 11 4) Ca, Na, Mg, K
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132. f9.qEHl. fHeaanay Geoth HITE S WEY FaE Sow A 7

(a) fuspinsd v @

(c) dra ferdrerra
FUSTHT IR/ T T TAAT AL/ ?

(1) (a) &A1 (b) (2) W (b)

BHC pesticide is prohibited because :

{(a) it leaves residues in crops
(¢) of its acute toxicity

Which option is/are correct ?

(b)
(d)

HO4
EEACEET|
(3) (b W (c) 4) (o) = (d)

it leaves residues in soil

of its carcinogenicity

(1) (a) and (b) (2)  (b)only (3) (b) and (¢) @) () and (d)
133. TRt FF THE Ao Wewa FRUTYd 3.
(1) 12 @ 21 3) 32 (4) 45
Animal farming contributes percent methane erission to atmosphere.
(1) 12 (2) 21 3y 32 @) 45
134. &9 S© HAE B et FRE o
1 yEe (2)  WToEATE TuiE
(3) YRUETEE do (4) 9l qEaT 9 Sewar
Central Water Commission is concerned with _ N
(1}  Ground water (2) Water quality
- {3) Surface water (4)  Water supplies and sanitation

135. U Yoged GihTEl S o U7 Gl HA Seiad /

(1y =4 (2) THH

(3) USRI (4) TP

Which element imparts increased vigour and disease resistance to plants ?

(1) N (2) S

3) K (4) P
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136, SFATET o0 iafauaraei=t ofedl ol must  eyjefa,
(1) =T Y (2) ST
(3) TN fassiwR ORISR
The first step in controlling soil erosion is to control
(1) Water flow (2} Wind speed
(3) Soil detachment (4) Plant growth
137. _ __ wfrterEt qur fouq e o,
(1 =w 2) U (HH GEE) T IR
(3) e (4)  oTeHYHI
Sprinkler irrigation is suitable for . soils.
(1) Khar (Salty) (2) Shallow and sloping
(3) Acidic (4) Alkaline

138. fafay faemymamdie Heern oftn ar @i guawgr dhifes mied g @ o3 fefaa
HUAld IS AR, @ dAHed
(a) Tafa" wimmye Tw FoF wifersg Tiied 9290 IR 94,
{b) %% TaEuR QifETs A igdE g HI0 & myiHs T 7.
() Fhdhun. fFen gy TGN HeEee Jifersg Jfed aran 4 6,
(d) fafay wwudte wifegsia mied IearEE! TUm q ST Sl SEves .
TR HIOI /RO, 481/ ST 308/ 3Rl 7
(1) () 301 (o) (2) @@ @) (@) (4 HHE ()

Geographic information system is a technique developed by incorporating concepts and
contents in various fields of study. In this technique

(a) Statistical information can be used from different sources directly.

(b) Registration of statistical information in digital form is the basic need.

(c) Statistical information obtained from GPS or secondary sources cannot be used.
(

d) Statistical information in various forms has to be fed to a computer before it can be
used.

Which of the above statements is/are correct ?
(1) (a) and (c) (2) (b} and (d) (3)  (c) and (d) (4) (b)only
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139. viifterdiwia ot & THNTAS Weh IR TEd .

(d) HAEHETF

WIHEIHRT FeEh TG HI0 ?

(1) WH (a) (2) & (d)

(3) (), (b) 3 () 4 (a), (b), (o) & (d)

Ecological agriculture is agricultural production system.
(a) multi-lavered

(b)  multi-structured

(¢} multi-functioned

(d) comprehensive

Which of the options are correct ?

(1) (a) Only (2) (d) Only
(3) (@) (b) and (c) (4)  (a), (b), {c) and (d)
140. fH=TamEt qogrE] oEE WMYROIE . g5 hef i
(1) THE AR JH0 (2) wifedw Ao TR (SAR)
(3) TEFEAZ F SRS gy @) Fhe ud

The quality of irrigation water is generally expressed on the basis of
(1) Total salt concentration (2) Sodium absorption ratio (SAR)
(3) Bicarbonate and boron content  (4)  All the above

141, Wi IO SIS IOl WSS ITFNT AU At A

(1) 3 (2) A gow (3) ot (4) AR
. spillway can not be used for damming up a flow and storage of water.
(1) Drop (2) Drop inlet (3) Chute (4) Emergency

ol HIHTETS AT / SPACE FOR ROUGH WORK

P.T.O.



HO4 60

142, STFT=A1 HeWid IV & € 3714 2
(a) @ gEeTIHIS! Bafa® Rd
(b) oI SUEH FH @EE 76D
(c) IATUEME! T 39 AFAd
(d) o "o pg A
ward I
(1) (a) M7 (b) (2)  (b) = (c) (3} (a) 3 () (4) (@) ¥ (d)
What is true of the gabion structures ?
(a)  They are flexible to handle
(b} They are economical to construct
(¢) They are impermeable to runoff
(d} They break easily

Answer options :

(1) f(a)and (b (2) (b)and (0 (3} (a) and (c) 4) (a) and {d)
143. RGTE Wil TV FAE |raRoTy] IR

(1) 1 2y 038 (3) <01 4y 2

The per capita forest land in India is about ha.

(m 1 2y 0.8 3y <0.1 4) 2

144, FHIRFEYEIRE Tgdraee Wareds w1 faar @l sngd ?
(a) wERTE S e
(by TaeTEt s fafverar
(c) I YATER HechT
(d) FSgEIEl HH TS
(1} %% (a) (2)  (a) 31 (b) (3)  (b) =TI (Q) () (c) &0 (d)

Which statements are true of the agroecological system 7

{a) Low intensity of tillage

(b) High plant diversity

(c) High petroieum dependance
(d} Low labour requirement

(1) (a) only {2) (a) and (b) (3} (b) and (d) (4)  (c) and (d)
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145, HET YMAY S T FETH AT v
(1) feEe 2 T
(@) W« 4 e (4) T, fete 7 amamm
Carbon sequestration refers lo increasing the amount of carbon stored in _____
{1) vegetation (2) soils
(3) vegetation and soils (4) vegetation, soils and atmosphere

146. T AV aad vl ygaayd faeonan sfami= oo sramfes, auivesa suftr faroiam-ar
fordier AR ST AN ¥ QAT usd yot Afrey R, amed

(a) Ty fagrem o fafore Sdtaw faftre Jait stem Sushiongd fewomd o - &4,
(b) SAHIE R windte tw faat ot fafafiga e fgaom &= 3m.

(c) avigedta faaT ol aviveoris fafime auiggarst 5 2m.

(d) IUIETAT G YIRS 376e auiuzagl qra giaames fafay o s W st

1 W R
et @R /s faum/ e ong/ ad 2
(1) % (a) 2) (a) (b) 30 (c)
(3)  (b), (o) 3nfT (d) (4) ™ (d)

The major characteristics of an imaging remote sensing instrument operating in the visible
and infrared spectral bands are described in terms of spatial, spectral and radiometric
resolution. In this ...

(a) Spatial resolution refers to the area on ground that is viewed by an imaging
instrument from a given altitude at any given instant of time.

(b) One pixel on the digital satellite imagery represents an Instantaneous Field of View
(F P) 5 gery rep
IFOV).

(c) The term spectral resolution refers to the width of spectral bands.

(d) Narrow band widths in certain regions of the electromagnetic spectrum does not
allow us to differentiate between various features.

Which of the above given statements is/are correct ?
(1} (@) only (2)  (a). (b) and ()
(3) (b}, (c) and (d) (4) (d)only
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147.

62 A

YT FET FHT FIOAT S0 AT ITEE Wied = Weher w00 steemesty s qE
YMETE AETEE IUPE ST RO

@) ¥ IT0s Tera fowms fafere dgi= T 1T 92 oF St

(b) =4 I9UE wEren foFot ey g eyl 9e aTgard.

(c) 79N TEEH GRAMIAR R %4} 3T,

(d) 319 37U Gy AL qEAIfud Fos eTHar.

FUTHFT HI0R /v faum/ 3 T 29/ 3ee ?

(1) WH (a) @) (@, @A () @) @FOD) (@) () W)
Data collection by polar orbiting and sun - synchronus satellites is useful in biological and
environmental studies. Because :

(a) the time at which a satellite revisits a location is the same on each occasion.

(b)  such satellites observe a location continuously.

(c)  the distance of such satellites from the earth is less.

{d) such satellites are located at very high altitude.

Which of the statements given above is/are correct ?
{1) {a) only (2) (a), (byand (d) (3} (a) and (d) (4) (b)and ()

148.

R TaE damed auiveern fafay ygard® @wdren TRrar o S gHaT Tgdr

FgduiyzaE HHTeI 3T "o,

(a) WA UH.OH.UH, S ARy Hed, Tereers a1 Hen fOwiaa @ o,

(b) TAUETH. AY Ui T3 wmevas g diaedl Sewgi auie efavard) T e
ThTe ITHLI HE.

(c) Fgaviewy weftarael Hey MgA 4 - TReaE wWaldd 2eA e e ol 9.

()  FgEviee wHiamm el Fat anf fgEtia aray 3w wiiEd] dhedard] thet S,

Alce] Fr faum seraT omed ?

(1) (a) 3% (b) (2)  (b) 3 () (3) (@) &AM () (4)  (b) ¥ (d)

In remote sensing technology the scanning system used to collect data over a variety of

different wave lengths is called Multi-Spectral Scanning(MSS).

{a)  In India MSS is developed by space application centre, Ahmedabad.

(b}  MSS essentially combines the capabilities of an imaging scanrer and a spectro
radiometer in one instrument.

(¢)  MSS sends signals and record the reflected signals from objects on earth - surface.

(d) Cameras and vidicons are commonly used for acquiring data by MSS,

Which of the above given statements are correct ?

(1) (a) and (b) (2) (b and (o) (3)  (a) and () ) () and (d)
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149, ITTRTA| HEEAT! YoETaie FI0eTs! SRt SHTTyatd FHIgr= Gt sfas o ffvad
TS (GPS) 318 HAlHd Sifd. 1 G

(a) wErE feHmmE! TAfived aa, %@mmmwmwm

(b) ST A9 ®e feaw it Sied saHANY T 3T,

(c) T A YR Pl SToare swa &,

(d) ToFar=met v@ WA 397 AasiE GPS (DGPS) w1 gera FHaRe e wur ffiaa
EaGIE G

FHEYH! BT faur ARt 29Ed ?

(1) (a), {b) &M (c) (2} (a) 3w (d)

(3)  (b), () 37 (q) (4)  (a), () 7T (d)

The technigue of locating the position of any place on the earth with the help of a satellite
is called Global Positioning System (GPS). In this technique

(a) The position of a place is fixed with reference to lattitude, longltude and altitude.
(b}  Distance measurements are possible only at day time and in good weather.

(¢} It is possible to demarcate exact earthquake prone area.
{

d}  The position of a ship in the sea can be located with the help of differential GPS
(DGPS) by keeping the main station on the shore. ‘

Which of the above given statements is/are correct ?
(1}  (a), (b) and (c) (2) f{a)and (d)
{3y (b, (&) and (d) 4y (a), (<) and (d)

150. @S Ford faum agaviseHl Sfaq ar] T ?
(1) foe@gasn auwdl fats ane fafire woq e i geaeEE sgaviws gfem
(2) N wEH TOF TR oo fetuicarren dad= g Je.
(3) TIHASTIER W IO 8 H Wi o,
(4) =1 BN aviswHt gfam s1fyw Aifzd) Safed F5 veham.

Which of the following stalements is not applicable for multispectral image ?

(1) 1t captures image data at specific frequencies across the electromagnetic spectrum.
{2) It records only the total intensity of radiation falling on each pixel.

(3} Itis the main type of image required by remote sensing,.

(4}  Spectral imaging can allow extraction of additional information.
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THEE AT ;AT War (YT) Te- 0%
e foeiew : 3% 7, 0%

TERTE CHehdal STATHhG e Vel (FST) THaTT-R0R%” a1 T8 WIeiel Jeurehedl STRelielhl SHGaRTAl
HIEERE! HehaeoTe TeE ShudTd 37Tl 311, Fe STdlieTehdiel T9-STRidee] SHEaRIHT fFag shedre 3Tdeard
T SATITHTOTN TRIR0T / HEH ST TIer Tel, Y9I, T9TshHish I Soct@iee Ui shAiehard (1, 11, 111, IV) @&

HITRTER NI oI oG TR 6 S9N T FeIg U UrehieTq STQTe (1), TeRT TishadT STTamT, e 3
ez fafeem,3 T wstem, WereAn e HAT, HaR Yoo oof, AT AR UM WISATd. IRIGHA f3. o S, j0%% T
TR ST SATeTed el e St Heell STSet. e STl are foraRId Saetl SR A, et o A e,

IRATHT - KEY
FHIE |G A | @9B | @9C | €D T G A | §EB | §9C | ¥9D
1 3 1 3 1 26 2 3 4 1
2 2 1 4 4 27 4 3 1 2
3 2 3 3 3 28 1 4 1 1
4 1 3 2 4 29 1 1 3 4
5 1 4 2 1 30 3 2 3 1
6 4 2 4 1 31 2 2 2 2
7 1 3 4 4 32 2 4 1 1
8 2 4 1 4 33 3 4 1 3
9 1 4 4 3 34 2 1 2 3
10 4 2 2 2 35 4 1 2 1
11 4 1 1 2 36 1 3 2 1
12 3 2 4 3 37 1 1 3 2
13 4 1 2 1 38 2 1 1 2
14 2 1 4 3 39 2 2 4 1
15 4 4 1 4 40 1 1 2 1
16 1 2 1 4 41 1 4 4 2
17 1 3 1 3 42 3 2 4 4
18 3 1 2 4 43 3 3 1 1
19 4 4 4 3 44 2 1 1 1
20 4 4 3 2 45 2 4 1 2
21 1 1 4 2 46 4 4 3 1
22 4 2 1 1 47 1 1 1 4
23 3 4 3 1 48 3 3 3 2
24 2 4 1 2 49 1 2 4 1
25 3 1 2 4 50 4 1 2 3
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L
ShHIR | HdA | 9B | 99 C | 99D
51 4 2 2 4
52 1 2 4 2
53 1 4 2 4
54 4 1 1 1
55 4 1 3 4
56 1 3 4 2
57 1 2 1 1
58 2 1 1 4
59 1 4 4 3
60 4 2 1 4
61 4 2 1 1
62 1 3 2 1
63 4 2 3 3
64 1 2 3 3
65 1 4 3 1
66 2 3 3 3
67 1 1 4 4
68 1 3 1 3
69 3 1 1 2
70 2 3 2 1
71 2 1 1 1
72 3 2 3 3
73 1 1 1 1
74 2 2 2 1
75 3 1 1 4

I I

WH® | GAA | 9B | €9C | WAD
76 1 3 2 2
77 3 1 1 1
78 1 3 2 2
79 3 3 3 3
80 2 1 1 2
81 1 2 1 1
82 1 4 1 1
83 2 1 3 4
84 4 4 1 3
85 1 2 1 2
86 3 1 2 3
87 1 1 4 1
88 3 1 3 2
89 3 1 2 2
90 2 3 4 1
o1 2 1 2 2
92 1 1 2 3
93 2 3 2 4
94 3 4 3 2
95 3 2 3 2
96 3 3 2 3
97 1 4 3 2
98 1 3 1 3
99 2 1 2 2
100 2 2 3 3
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%HR | A | 99B | 99C | 99D
101 1 3 3 2
102 3 3 2 3
103 2 2 3 2
104 3 2 1 1
105 3 2 1 1
106 2 1 2 2
107 2 1 1 1
108 2 2 4 2
109 4 1 2 3
110 3 2 4 1
111 2 2 1 4
112 1 3 3 3
113 4 2 2 1
114 1 2 2 2
115 2 3 1 1
116 3 2 3 2
117 3 2 4 3
118 2 3 3 3
119 2 4 3 2
120 4 4 4 3
121 4 3 2 1
122 1 1 3 2
123 4 4 3 3
124 2 2 3 3
125 4 2 3 4

o I
W& | G A | 9B | €9C | WED

126 1 2 4 2
127 2 2 4 1
128 3 4 2 4
129 2 3 1 2
130 1 4 2 2
131 4 3 2 4
132 2 4 1 1
133 2 3 3 4
134 3 2 4 4
135 3 4 4 2
136 3 2 1 3
137 2 3 2 2
138 2 2 4 4
139 4 1 1 2
140 4 3 2 3
141 3 1 2 3
142 1 2 2 3
143 3 3 2 4
144 2 3 2 1
145 3 1 3 2
146 2 1 1 2
147 1 3 1 1
148 1 4 3 4
149 4 2 4 3
150 3 1 2 1
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